2). The radii of two cylinders in ratio
3:5 and their heights are in ratio
of 2:3. Find the ratio of their

= "%' Ry h curved surface areas.
5 2 el B Proaral B oA
3:5 ¥ 3 3ad FuEat @
9T 2:3 3| 3% aF WA

*h 3EX2 _ 6 ::ﬁ;ﬂm’rmmb)6;§|1w|
VVV\/\/\/% &VZ:S d) 25:6
CSh, Y hy , \'o\\_ Y\zh\ Toh
STV N AT g
xR

| !



{odih 2°7

,#\.,ng 3.5

2erh  oya
cshA — —r
H¢h
V&Q—) blx\?;

Yaxs




22.The ratio of the volumes of two
cylinders is x : y and the ratio of

VO l-’- ,'B' h their diameters is a : b. What is
. the ratio of their heights?
2z _ A xh ar deel & HAAA T AT
__E_T v+ ., Xy © OUT 3% UM HI
¢ X2 YadiL @.b [T a: b 3| eI 3EEA
B _ h, FT AT AT 82
- — a)xb : ya b) xa : yb
g h
a'a 2 /be2 : ya?® d) xa? : yb?

CGL 2018T-2 3



CSA 4. From a solid right circular cylinder
CSA @ + O+ @ of length 4 cm and diameter 6 cm,

a conical cavity of the same height

——‘ﬂ(&x%x‘H‘H 3y5) and base is hollowed out. The

whole surface area of the remaining
2+ a+|S solid is
~ 4 cm ﬁ'l%’ IR 6 cm == T
=Yg A Y T AW e A F 3 S
Q iR g™ amT UF OF e
Rar arar ¥ S 9 o @
F g $T &G IdT F|
,;?481: b) 15 7

N4 ¢) 63 d) 24

|CGL 2014 T-2 | 5



2. The height of a cylinder is

CSA'@_,_ Zé) 30 cm and the diameter of its base

is 10 cm. Two identical conical

holes each of radius 5cm and

=Tl(2x 5x%0 + 5XI5>(2) I“"ﬂi 12 cm are drilled out. What is the
300 4 |20 surface area ( in cm?) of the

remaining solid?

3 dd T FArs 30 FHT
I 3HF IMUR FT w10
¥ @ A AR R,
fear 5 @t Ik Furd
LN 12 % e fre o &1 aw

o 3

Q
4

¢
;jf

1 N 3 ;:r S8 eEwe ([eH12 )
T 82
a)230m M430n
c)330m d) 120

| SSCCGL T2, 15 Nov 202051 | 6



3. A solid cylinder has radius of base 14cm and height 15cm. 4
. 7 ot identical cylinders are cut from each base as shown in the given
IC%”“M d'd figure. Height of small cylinder is 5cm what is the total surface
ynﬂ—’ C3A  areaofthe remaining part?
TH Y dolel & MU H AT 14 cm J4T 3918 15 cm B
Star @ anpfa 7 qufr o 3 % mqﬁmm#4
T50= TSh HATT 9T HIE AT §| BN Jo0aT Y 398 5 cm §| AT §09T
FT Tl 57 &% F4T 7
+8xCSh B W3740  Af3432 w3124 M 2816 N

= 2_7-(2X|‘4XQQ ¥ g)g/ixlXS)

20 +10 )
jz’ X(?) = \ =22 j‘Z
€z

D | o




. ’ RO = — 7'+217¥7'q’ A right circular cylinder has height
on &39«} bP _ _’?,7:7. 28cm and radius of base 14cm. Two
B hemisphere of radius 7cm each are

cut from each of the two bases of
TSh @ + WxO the cylinder. What is the total

surface area of the remaining part?

g Th 7 MATSR ddd T 398
'-%(2"‘”’“‘”2*“*7“2) 28 cm 9UT YR T BT 14
= cm 8] 99T F S ITURT H X

=—A2X2¥x 7 N Udd ¥ 7 cm BT arer @

O e e o9 @) AW T
T ST &A% FIAT §IM?

X 3842 #4312

§3296 ) 4436

A ANl B




Cylinderical Pipe:

Yol. = @i of baw xhught
= ama o @ xkugi\t
= 7 (ewv)®v)xh = 7 (€2) h
TSh- CQAQV\Y\UL-FOV&.L)*Q W
= Z'DY‘ﬂ’r’Z'nth»z-n(QEY?.)




Rectangular Pipe:

Vo l, = ama of base x heaghdt

3

12



@H)(_Z—Y) 2 4. If 1 cm3 of cast iron weights
21 gms, then the weight of a

,2—2_)( Yx | x40 X 2_ 264 cast iron pipe of length 1 m
— 0o with a bore of 3 cm and in

which the thickness of the
metal is 1 cm, is:
_ MR 1 cm® A & Tolad
lonel 21 gy & A 1m o AR
Mometir iira " Tel 91T FT Joiel qg
I fTRT A 3cm
£l \cm3ﬁT LIGH C) 'Hﬁ'l?km g7
a) 46.2 kg b) 24.2 kg
,&26.4 kg d) 18.6 kg

NRz 2. 17

l

7



2 r% ¢- Volume of a metallic cylindrical
K- 2 — = 3 :
pipe is 748 cm”. Its length is 14

* 748 cm
,2/?-’)( (8,’7:’)&%: :H—Q' /6/8/’ / cm and external radius is 9 cm.
_t

6y Its thickness is
frdt arg & TE dAAER
=) ¥=§ UISY &I HAdT 748 cmd
hzw SHHT aFEE 14em § IR

: s Ty BT 9em @
Hidkmug = .y R=9 s ateré war Y|
:q_g:l Y= 2 ﬂlcm b) 7 cm

c)2cm d)3cm




dug 10 m deep. Earth taken out of

# A well with 14 m inside diameter is
Vo lume %W?Jw. Vol. 9% erbanKprar -

it, has been evenly spread all

—)/'R/J—)FFXJ«Q' /ﬁ/—%'—x?y"h around it to a width of 21 m to

B h form an embankment. The height
of embankment (in meters) is.
14m STl SATH AT TH FHT




Y (R+) ®-r)
TR0 =T (2r)x| x5

2 Yy*-2v—|= o

Y- 212J]5 Y+16

8- A 20 feet deep well was dug and the

earth taken out was evenly spread
around the well to form an
embankment with the width 1 ft. If
the height of the embankment is 5
feet then find the radius of well in feet.

a) W;Z b) V5
V3+2 V5+1
15 9=

| R.R.B. (A.S.M.) 2004 | 17



T, R 9. The height of a metallic hollow cylinder

2. is 14 cm and the difference between its

/2’,(_22;(»“’!’7( (@.‘y); W inner and outer curved surface area is 44

A P-y=_ cm?. If the cylinder is made up of 99 cm?

metal. Then its inner radius i§ what %

) g less than the outer radius. P'P¢

Pl a9 & @EdE dud Y FEE

2% % (Rrv) x L x = aq- 14cm & 3R sw aEA IR RS

" — aF TdE & AT FT IHAT 44 cm? ¥
9
2

I SH 9 P A H el 4Td
,j\ F_IFGA 99 cm® ¥, A FEH

2 Y, o2y, difevw Psar gaer el Bew @
2 R 5 55“1%%# yfaera & 372

a) 33.33% b) 25%

A 20% d) 12.5%

| | 18



CZ{-Y)(Z-Y) [o- The material of a sphere of radius
2 r is melted and recast into a
= -&) O
-(i'ﬂY /P/(Z_b a) X h hollow cylindrical shell of
5 thickness a and outer radius b.
pl'p?- What is its length assuming that
M{ £ no material is lost in recasting?

= h rB3sar ar & M A G
Ba(zb—q) A Ruay HFdA TR

=b mmﬁaﬁimw%
: @ A a CIELUMERD |
QY'M b ¥ R somE F wwEh &
Y= wRE R TE A T N

>

—— FgATad Fats fhett 32
473 b) 473
‘ ) 3eza D) 3a(b+a)(b—a)
473 473
C) 3a(b—a) 3a(2b-a)

|SSC MTS, 12 Oct 2021, Sﬁ 9



{’ R |/- A_hollow cylinder is made up of metal.

222 ¢ The difference between outer and inner
xg_tx)’gx(f"") =252 P'Fz’ curved surface area of this cylinder is

= @ -9 352cm?. Height of the cylinder is
' _Y) - 28cm. If the total surface area of this
cSA( hNner +0uder) 2 hollow cylinder is 2640cm?, then what

YA N — are the inner and outer radius (in cm)?
2x 2—%7“28"@‘”) +QxLL (@H’)(ﬂ-ﬁ T F1 TH QG deflel AT AT
= W% S &Fhd & ALY 352cm® HI
3-"(‘1*7))((%9);%92 oY §| 9T Y 391 28 cm B I
3H TEA qdd T FA ST

Rry=|y BT 2640cm? ¥, @ oA €
N WP auT T Bear (cm) A
8 6 T 87

a) 4,6 b) 10, 12

c) 8,10 A 6,8

| SSCCGL T2 9 Mar 2018 | 20




|2. A hollow square shaped tube open at

2 QY both ends is made of iron. The
S = -\—QZ

CL& 2 )/g/ internal square is of 5 cm side and

the length of the tube is 8 cm. There

U9 is 192 cm?3 of iron in the tube. Find
Y=7 its thickness:

X #7902 cm3aﬂ?$r3q'afv1"\°3n%|
5 Tgq & AlS gt |
X-3g, ( : a)2cm b) 7 cm

ﬂl cm d) Can’t determined

| | 21



/3. Kamala has three cylindrical containers,

golgf'g g Jro

2 82 k- “ox?
(XS XQM(%}J =10
Stpe

100- nglzp?

a——

each with radius 20 cm that she wants to
fill with grain. If her bag of grain contains
100 kg of grain, and she fills all three
containers to a height of 70 cm. How
much grain will be left in the bag, if 1 kg
grain occupies 3000 cm? space?

FAAT F U dd dTAAFR F&R 8§,
W#WﬁﬁWZOcm%,a?
g HTST ¥ ST Tlea §1 Ife 39
TS arar S # 100 kg AT g, 3T
gg didl Fead T 70 cm FATE dF
st ¥1 A s A fFaer AT 99,
I 1 kg AT 3000 cm? FUT oIdT 872

a) 88 kg b) 50 kg
c) 58 kg /[ 12 kg
|SSC MTS, 13 Oct 2021, Sﬁ 2



0

] Y+

7
T =
(g

25
FHOHO (1) - 7 (1o

(4

The radius of a cylinder is 10 cm and
height is 4 cm. The number of centimeters
that may be added either to the radius or
to the height to get the same increase in
the volume of the cylinder is:

frdft 9 o BT 10em 3 FAE
4cm | U B A1 FUE H fFaa
cm SIST ST dife dde &1 A
HATT d¢7?

A5 b) 4 c) 25 d) 16

xly

TA5%= L tx 420

' &

53(\\«




/5 The height and the total

surface area of right circular
27y (y+u)= 8F ¢ cylinder are 4cm and
81t sq.cm. respectively. The

2
D Y 4 Ur-y=o W up radius of the base of cylinder
o= 2 _

Y= —H4fuja wmﬁumﬁm
2l kR mﬁmﬂm
- —9- - $HAA: 4 H. #HI. 8m dIr
'zzﬁ’“jh A oM ¥ 3 AT F
YR &1 BT Id13v|
/(2\/5—2)011
b) (2—-+v2)cm
c)2cm

d)V2 cm

X

|CGL 2016 T-2 | 24



P=12
v=8

i (R+)(Rv) = TSA Oabno(d.
D A %Y < 247 R (Brh)

5 W R
?__ +

5 4 _pe
g

=) kT,
R

J¢- |f the area of the circular ring having

inner and outer radii of 8 cm and
12 cm respectively is equal to the
total surface area of a cylinder of
radius R and height h, then h, in
terms of R will be

8 cm IETAT T 12 cm 9N =T

30-R 40—R2
) RZZ M 2R

3R%2-30 R%2-40
c) 7R d) R2

|CGL 2012 T-2 | 25



i
2_2X?—'x1x = }(OOXh
3 = 2

(s4Y = h

|00

|7. A well of radius 3.5m is dug

&

16 m deep. The earth removed is
spread over an area of 400 m? to
form a platform. Height of the
platformis

3.5m fsar 3k 16m I
H TH F3IT W AT g
et 88 Ted #1 400 =t m
F &ha § bel & F TIE
AT ST 3] R A FAS
qdr 1]
a)7.7m
c)1.57m

b) 77 m

AT1.54m

CGL2012T-2 26



h-uc C=2TvY

27
Vol= T[Yzh
= }(XC_z xHC
Mt
4

<
T

|8 If the height of a cylinder is 4
times the circumference of its

base, the volume of the cylinder
@in terms of its circumference ¢, is
IR dad T FEUE FWH
YR & IRATT FT 4 AT 8T

|CGL 2014 T-2 | 27



(9. The circumference of the base of a

2TIY=6T circular cylinder is 6T cm. The height
@ of cylinder is equal to the diameter

D v=3 of the base. How many litres of
h=3x2-6 water can it hold? 1000 (wd= | i)

. P gaeR dod F AU @K

V= T 2x2x6= 34T m ‘Iﬁ'ﬁTGH cm g d9T i FAE

SH% YR & A & AT g
= S G g fhder oier T SRT o

1000 T 87
hy ) a)54n b) 361
= osum fifit 00541 d)0.54m

D e T
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